Mid-Term Examination

IS229 UNIX/Linux


1. Which command reads the Makefile file to issue the commands listed in the file? 

a. Make 

b. Makefile 

c. Callmake 

d. GNUmakefile 

2. By default, what does the HOME environment variable store? 

a. user files 

b. BASH shell prompt 

c. user name of the current user 

d. host name of the Linux server 

3. Julie is a Linux system administrator whose system run level is set to 3. Her default shell is currently configured as Bash. Julie wants XWindows to start automatically whenever Julie logs on to the system. 


Which file should Julie edit to configure XWindows to start automatically?

a. ~/.bash_login 

b. ~/.bash.login 

c. ~/.bash_logon 

d. ~/.bash_enter 

4. What is the correct key combination to switch from XWindows to virtual console 4? 

a. CTRL + ALT + F3 

b. ALT + F4 

c. CTRL + ALT + F7 

d. CTRL + ALT + F4 

5. Which command should you issue to view a list of environment variables configured in a BASH shell? 

a. env 

b. envvar 

c. setenv 

d. setEnviron 

6.  Which file should the system administrator edit to set the BASH shell prompt settings for all the future users of a Linux system? 

a. /etc/profile 

b. /etc/bashrc 

c. /etc/skel/.bashrc 

d. /etc/profile/.bash_profile 

7.  A user issues the 'make' command to read the contents of the Makefile file present in the /home/user/bin directory. 
Which option of the 'make' command will enable the user to specify the path to the Makefile file? 

a. -f 

b. -target 

c. --new-file 

d. --filename 

8. A system administrator issues the 'export HISTSIZE=500' command on the BASH shell. 

Which function does the given command perform? 

a. issues command number 500 from the history list 

b. displays command number 500 from the history list 

c. sets the number of entries in the command history to 500 

d. displays the last 500 commands issued on the BASH shell 

9. Which file will you edit to execute cleanup tasks after exiting the shell?

a. ~/.bash_exit 

b. ~/.bash_cleanup 

c. ~/.bash_logout 

d. ~/.bash_quit 

10. Which configuration file would you edit if you want to redirect the system log files of several Linux servers to an administrative Linux server?

a. /etc/sys/log.conf 

b. /etc/syslog.conf 

c. /var/log/messages 

d. /var/logs/syslog.conf 

11. Which utility can be used to view the manual pages for the 'cd' command? 

a. Man 

b. Info 

c. Help 

d. Txthlp 

12. The following information is generated on a Linux system every five seconds:
procs memory swap io system cpu
r b w swpd free buff cache si so bi bo in cs us sy id  

0 0 0 0 104232 218884 3364308 0 0 0 1 1 1 4 0 99 
Which command will yield this output?
a. ksyms 5 

b. vmstat 5 

c. stat syslog 

d. mtype syslog 

13. What is a function of the 'head' command? 

a. displays the properties of a file 

b. displays the first ten lines of a file 

c. displays the last ten lines of a file 

d. displays the entire contents of a file 
14. What is the function of the 'whois' command?
a. to print the user name of the user who is currently logged in 

b. to return the administrative and technical contact details for a remote host 

c. to locate the binary, source, and manual page files for specified commands or files 

d. to identify and output the process IDs of processes that are using a particular file or file system 

15. Which partition stores the system log files and may require periodic administration to ensure that the partition does not fill up?
a. /etc 

b. /usr 

c. swap 

d. /var 

16. Which command should you use to view the release number of a Linux system?
a. uname –r 

b. sys –kv 

c. kernel –version 

d. usermod --krnlvn 

17. Which command can a root user use to issue a specific command repeatedly?

a. sar 

b. tail 

c. watch 

d. repeatcmd 

18. A user wants to view the average paging statistics between 10 AM and 11 AM for the current day.
Which command should the user issue?
a. top -p page 10 11 

b. page --start 10 --end 11 

c. pgstat -s 10:00:00 -e 11:00:00 

d. sar -B -s 10:00:00 -e 11:00:00 

19. While viewing the output displayed by the 'top' command, a user presses the Enter key. 
What will be the outcome on the system console?
a. The output of the ‘top’ command will be updated. 

b. The Help menu on the ‘top’ command will be displayed. 

c. The user will exit from the ‘top’ command display mode. 

d. The output of the ‘top’ command will be toggled into the memory mode. 

20. Which command will show the last 10 lines containing the word 'alias' in the file named .bashrc?
a. tail -10 ‘alias’ .bashrc 

b. tail ‘alias’ -last 10 .bashrc 

c. find ‘alias’ .bashrc | tail -10 

d. grep ‘alias’ .bashrc | tail -10 

21. What is the function of the 'man -k passwd' command?

a. to display the manual page for the passwd file 

b. to view a short description of the ‘passwd’ command 

c. to view the documentation information regarding the commands in the Info format 

d. to view the command names and help file descriptions containing the word ‘passwd’ 

22. What is the function of the 'top' command?
a. to display information on the routing tables 

b. to collect and display system activity information 

c. to check the current resource usage for processes 

d. to verify connectivity to a remote host 

23. Which system file stores the kernel configuration options?
a. /boot/kernel/config 

b. /usr/src/linux/.config 

c. /usr/src/linux/.system 

d. /boot/system/krnl-config 

24. A user wants to display the first two lines of a log file and the last two lines of another log file. The output of which two commands should be concatenated to view the desired result?
a. first and last 

b. head and tail 

c. begin and end 

d. top and bottom 

25.  A system administrator issues the 'rpm -qa | sort > rpmfile.txt' command.

What will be the content of the rpmfile.txt file after the command is issued? 

a. A sorted list of all the RPM packages present on the system 

b. A sorted list of the configuration files in all the RPM packages present on the system 

c. A sorted list of the files existing in all the RPM packages present on the system 

d. A sorted list of the documentation files existing in all the RPM packages present on the system 

26. Which statement defines Wine Is Not an Emulator (WINE)? 

a. WINE is a tool to manage the wireless access points. 

b. WINE is a software program to run Windows programs on Linux. 

c. WINE is an application to configure the Wired Equivalent Privacy (WEP) key. 

d. WINE is a cryptographic algorithm to encrypt data before transmission. 

27. What is the recommended size for the /tmp directory?
a. 2 GB 

b. 3 GB 

c. 50 MB 

d. 500 MB 

28. A Linux administrator configures a dual boot system with the Red Hat Linux 9.0 and Windows 2000 operating systems. LILO is the boot loader loaded in the Master Boot Record (MBR). When the system is rebooted, the administrator notices that the system fails to boot into either Linux or Windows.
How can this problem be resolved?
a. by reinstalling Linux 

b. by rebuilding the MBR 

c. by replacing the hard disk 

d. by issuing the 'fsck' command on the /boot partition 

29. Why would you edit the /etc/localtime file?
a. to change the time zone 

b. to configure the system clock 

c. to manually set the system date and time 

d. to view the time for which the system has been running 

30. Which journaling file systems are available in Linux?
a. ext2, ext3, and reiserfs 

b. ext3, reiserfs, and vxfs 

c. ext3 and fat 

d. hfs, ext3, and reiserfs 

31. Which partition should typically be twice the size of the RAM present in the system?
a. usr 

b. var 

c. swap 

d. home 

32. What will be the result of issuing the 'swapon -a' command?
a. A swap partition is created on the specified device. 

b. Swapping and paging is disabled on the specified device. 

c. The specified device is available for swapping and paging. 

d. Information regarding the swap partition on the specified device is displayed. 

33. What is the correct sequence of installation for a Linux system?
a. Review the hardware compatibility list. Select the hard disk size and type. Select the models of keyboard and mouse. Select the packages to install. 

b. Select the hard disk size and type. Review the hardware compatibility list. Select the models of keyboard and mouse. Select the packages to install.
c. Select the hard disk size and type. Select the models of keyboard and mouse. Review the hardware compatibility list. Select the packages to install. 

d. Select the packages to install. Select the hard disk size and type. Review the hardware compatibility list. Select the models of keyboard and mouse. 

34. Which command line-based setup program is used for the X Windows System? 

a. SetupX86. 

b. XF86Setup. 

c. XF86Config. 

d. Xconfigurator 

35. A user issues the 'tar -zcvf samplebackup.tar /home/user/sampledirectory' command. What will be the result of issuing the command?
a. The contents of the /home/user/sampledirectory directory will be compressed using the gzip utility. 

b. The contents of the /home/user/sampledirectory directory will be compressed using the bzip2 utility. 

c. The contents of the /home/user/sampledirectory directory will be compressed using the compress utility. 

d. The contents of the samplebackup.tar will be uncompressed into the /home/user/sampledirectory directory. 

36. While taking a backup of an archive of a directory, the system administrator wants to compress the files by using the bzip2 utility. Which option should the administrator use with the tar utility? 

a. -c 

b. -j 

c. -x 

d. -z 

37. What can the /etc/filesystems file contain? 

a. characteristics of the known file systems 

b. characteristics of the virtual file systems 

c. mounting information for the file systems 

d. shares to be exported across Network File Server (NFS) clients 

38. Which command can be used to generate a list of all the files present in domain, an RPM package installed on a system?. 

a. rpm -e domain
b. rpm --list * domain 

c. find -name domain*.rpm 

d. rpm -ql domain 

39. Tom, a Linux administrator, makes changes to the LILO configuration file and then reboots the system. The changes made to the file are not reflected, and the system continues to load the old configuration. Tom decides he needs to compile the new configuration.
Which utility should he use?
a. lilo 

b. fdisk 

c. loadlin 

d. compile 

40. How many logical partitions can a Linux extended partition contain?
a. 4 

b. 16 

c. 61 

d. unlimited 

41. A SUSE Linux distribution has a Red Hat Package Manager (RPM) package named appserv with a version number of 3.1.1a and a release number of 5. The package has been compiled using an Intel Pentium IV Processor. 
What can be the name of the compiled package?
a. appserv-5-3.1.1a.src.rpm 

b. appserv-3.1.1a-5.ppc.rpm 

c. appserv-3.1.1a-5.i586.rpm 

d. appserv-5-3.1.1a.i684.rpm 

42. Which element is NOT an integral part of a system administrator's installation documentation of a Linux system?
a. version of Linux 

b. root user password 

c. partition map of the hard disk 

d. list of hardware devices to be installed 

43. A user wants to take a full backup of the root directory. Which backup utility should NOT be used?
a. tar 

b. gzip 

c. cpio 

d. dump/restore 

44. What is the function of the 'mkswap' command?

a. to display information about the swap partition 

b. to create a Linux swap area or file on a device 

c. to disable swapping and paging from the specified. 

d. to make the specified available for swapping and paging 

45. Which file system supports the journaling feature and also ensures that there is no data loss due to power failure?
a. ext2 

b. JFS 

c. ntfs 

d. bfs 

46. A system administrator is trying to install a Red Hat Package Manager (RPM) package named smbpckg-9.11.i123.rpm. The following error is generated while installing the package: 
failed dependencies: sambapckg >= 7.1 is needed by smbpckg-9.1-1
Which command will ensure that the installation ignores the error and installs the smbpckg package? 

a. rpm -V smbpckg-9.1-1.i123.rpm 

b. rpm -i --force smbpckg-9.1-1.i123.rpm 

c. rpm --inst -f smbpckg-9.1-1.i123.rpm 

d. rpm -i --nodeps smbpckg-9.1-1.i123.rpm 
47. What is the function of the 'rpm -e' command?
a. The command builds an RPM software package. 

b. The command installs an RPM software package. 

c. The command uninstalls an RPM software package. 

d. The command edits the installation preferences of an RPM software package. 

48. What does the /usr/src directory contain? 

a. kernel sources 

b. system binaries 

c. system configuration files 

d. add-on software packages 

49. Which directory is not an important directory that should be mounted on a partition separate from the root file system? 

a. /boot 

b. /tmp 

c. /var/log 

d. /home/username 

50. What is a function of the 'rpm -V mypackage' command?
a. installing the documentation for mypackage 

b. performing an MD5 checksum on mypackage 

c. executing a query to find the version of mypackage 

d. erasing the previous version and installing a new version of mypackage 

51. On a dual boot system, Linux is installed on the /dev/hdb1 device. To what does the /dev/hdb1 device refer?
a. the first SCSI disk 

b. the first SCSI tape drive 

c. the first partition on the first IDE hard drive 

d. the first partition on the second IDE hard drive 

52. Which user account should you use when you compile a package from the source?
a. Root 

b. Guest 

c. Admin 

d. Normal user 

53. In which location can the Hardware Compatibility List (HCL) be found? 

a. man pages 

b. www.linux.org 

c. distributor's Web site 

d. Linux vendor's Web site 

54. Which task CANNOT be performed using the 'touch' command? 

a. create a new file 

b. change the file access time 

c. change the file creation time 

d. change the file modification time 

55. A system administrator wants to ensure that group users and other users can read a file but not write to it. 

Which is a valid command to implement the given permissions?. 

a. chmod 700 filename 

b. chmod +r,-w filename 

c. chmod go -x filename 

d. chmod go+r,go-w filename 

56. What does the 'tune2fs -j /dev/hda2' command do? 

a. creates a ext2 file system on device /dev/hda2 

b. saves critical data from the ext2 file system to a file 

c. converts an ext2 file system into an ext3 file system 

d. converts an ext3 file system into an ext2 file system 

57. What is the function of the ‘crontab -e’ command? 

a. It will delete the current user’s crontab file. 

b. It will open the current user’s crontab file in the edit mode. 

c. It will erase the contents of the current user’s crontab file. 

d. It will explicitly list the contents of the current user’s crontab file. 

58. A user issues the 'll' command to view the following display on the screen:
lrwxrwxrwx 1 root root 4 Aug 5 15:54 myfile -> Juliesfile. 

-rwxrwxrwx 1 root root 567 Aug 5 15:54 Juliesfile. 

What is true about the above output? 

a. Myfile is a physical file linked to the file named Juliesfile. 

b. Myfile is a piped file used to link to the file named Juliesfile. 

c. Juliesfile is a symbolic link file connected to the file named myfile. 

d. Myfile is not a file but a symbolic link definition to the file named Juliesfile. 

59. Which command can be used to ensure that only the owner and the owner’s group has read, write, and execute permissions on the Myproj directory? 

a. chmod 700 MyProj 

b. chmod 770 MyProj 

c. chown user MyProj 

d. chmod 720 MyProj 

60. What does PID 1 indicate?
a. The associated process is dead. 

b. The associated process has a low priority. 

c. The associated process was the first to be launched. 

d. The associated process is about to be completed. 

61. What are the contents of the /etc/skel directory?
a. spooling data and system logs 

b. user binaries and support libraries 

c. shared libraries required by the system programs 

d. default configuration files and directories for the user 

62. While monitoring a Linux system, a system administrator issues the 'e2fsck' command. The command returns an exit code of 4. 

What does this exit code mean?
a. There are no errors. 

b. There are usage or syntax errors. 

c. The file system errors have been corrected. 

d. There are uncorrected file system errors. 

63. What does the 'ps --User bob' command list? 

a. The command will list all the processes assigned to the user bob. 

b. The command will list all the processes owned by the user bob. 

c. The command will list all processes except those assigned to the user bob. 

d. The command will not list any processes and will generate a syntax error. 

64. A file has a -rwxrwxrwx permission string. A system administrator issues the ‘chmod u=rw filename’ command. 

What will be the new permission string of the file after the given command is issued? 

a. -rw-rw-rw

b. -rwxrwxrw

c. -rwxrw-rwx 

d. -rw-rwxrwx 

65.  Which file can be accessed by a normal user to view passwords if the shadow passwords are not enabled?
a. /etc/passwd 

b. /etc/shadow 

c. /etc/gshadow 

d. /etc/password 

66. Which directory contains the startup and termination scripts?
a. /etc 

b. /usr 

c. /proc 

d. /boot 

67. What is a function of the ‘edquota’ command? 

a. manipulates user quota 

b. displays disk usage limits 

c. turns on the file system quota 

d. reports quota information on the file system 

68. A system administrator wants to rename an existing ext2 file system. Which command can be used to rename the file system?

a. e2label 

b. nameif 

c. rename 

d. tune2fs 

69. Which character is used in the password field of the /etc/passwd file to indicate a locked account?

a. x

b. : 

c. *

d. ? 

70. What is a function of the 'dd' command in Linux?

a. to create an image of a boot disk for duplication 

b. to copy one or more files to the desired location 

c. to delete a file or a directory from the file system 

d. to check the available disk space on the file system(s) 

71. While editing a file, a Linux user wants to issue several Linux shell commands.

Which command can be used to issue several Linux commands in succession without exiting the Vi editor? 

a. :sh 

b. :![commands] 

c. :r ![commands] 

d. :sh [commands] 

72. A file named Employees has the r--r--r-- permission string setting. The system administrator runs the 'chmod o+w employees' command.

What will be the file's new permission string setting?
a. rw-rw-rw

b. r--r--rw

c. r--rw-r-

d. rw-r--r-
73. A Linux user issues the ‘rmdir -p /home/Bob/Staff’ command. 
What will be the output of this command?

a. The Staff directory will be deleted if it is empty, and the return value will be printed on the console. 

b. The Staff directory and its subdirectories will be deleted along with their contents after prompting. 

c. The Staff directory and its subdirectories will be deleted along with their contents without prompting. 

d. Empty Staff directories and its parent directories that become empty subsequently will be deleted as well. 

74. A system administrator is required to reset the passwords of 200 users. The administrator creates a file named userpassword in which each user name and new password is mapped together in the username:password format. 

Using this file, which command should the system administrator issue to reset the old passwords to new ones?
a. passwd userpassword 

b. chroot /userpassword 

c. pwdadm 

d. cat userpassword | chpasswd 

75. A user, Julie, has the following entry in the /etc/passwd file:
julie:x:506:507:Julie Joseph:/home/julie:/bin/bash
What does the above entry in the etc/passwd file imply? 

a. There is no password assigned to Julie. 

b. Julie’s group password is stored in the /etc/group file. 

c. Julie’s encrypted password is stored in the /etc/shadow file. 

d. Julie cannot log on to the Linux system using the ‘login’ command. 

76. How is single-user mode different from other runlevels?
a. In single-user mode, the 'init' command does not read the /etc/inittab file. 

b. In single-user mode, users can log on only to the system from the network. 

c. In single-user mode, network services are disabled. 

d. In single-user mode, all the processes are stopped, and the root file system is mounted as read-only. 

77. What is the PID of the 'init' process? 

a. 0 

b. 1 

c. 2 

d. 3 

78. A system administrator wants to view the list of the groups associated with a user named bob. The system administrator wants only the user's group names to be displayed in the list.
Which command can be used to obtain the desired list? 

a. groups Bob 

b. users -g Bob 

c. grep bob /etc/group 

d. grep bob /etc/passwd 

79. Which command can a system administrator use to change the root directory?
a. fdisk /home/rootdir 

b. chdir /home/rootdir 

c. mount /home/rootdir 

d. chroot /home/rootdir 

80. A user wants a script named 'test1' to use the contents of the test2 file as input and redirect the output to the test3 file. How can the user accomplish this?
a. test1 | test2 > test3 

b. test1 < test2 | test3 

c. test1 > test2 | test3 

d. test1 | test2 < test3 

81. What is the function of the 'bash -r' command?
a. to initiate an interactive shell 

b. to restrict access to the BASH shell 

c. to read the BASH commands from a file 

d. to read the BASH commands from standard input 

82. A user is editing a file named mydoc and requires entering the current system date in the file.

Which command will insert the system date in the file without exiting the Vi editor? 

a. :!date 

b. :r !date 

c. :sh date 

d. :r date 

83. Which command can be executed to find all the files in the current directory for which the file owners have read and write permissions?
a. find -perm -0600 

b. find -permission +0600 

c. locate -permission -0600 

d. locate -perm +0600 

84. A Linux user wants to hide the directory salary which has important information on the Linux system. Which command will accomplish this?
a. chmod –h .salary 

b. chmod +h .salary 

c. cp –R salary .salary 

d. mv salary .salary 

85. A user issues the ‘atq’ command. What will be result of the command?
a. The user’s pending job will be deleted. 

b. The user’s pending jobs will be executed. 

c. A list of the user’s pending jobs will be displayed. 

d. The user’s pending jobs will be placed in the default priority queue. 

86. A system administrator issues the ‘grep bob /etc/group > result.txt’ command. 
What will the result.txt file contain after the command is issued?
a. The result.txt file will contain a list of encrypted password for the user bob. 

b. The result.txt file will contain a list of groups to which the user bob belongs. 

c. The result.txt file will contain a list of group shadow passwords for the user bob. 

d. The result.txt file will contain a list of all existing groups along with their users. 

87. Which command must be issued to remove directory files and subdirectories from the Data directory? 

a. rm -R Data 

b. rmdir -f Data 

c. delete -f Data 

d. remove -r Data 

88. A system administrator boots a Linux server using runlevel 1. 
In which mode will the system boot?
a. multi-user textual mode 

b. single-user textual mode 

c. multi-user graphical mode 

d. single-user graphical mode 
89.  Which command will enable a system administrator to view a list of all the process IDs that are using a file named rootfile? 

a. whatis rootfile 

b. ps -u rootfile 

c. fuser rootfile 

d. whois rootfile 

90. A user issues the 
'mkdir -p home/user/homedirectory/samplefiles/personaldata' 
command. Only the /home/user/homedirectory directory path currently exists and contains user data. 

What will be the result of issuing the above command?
a. An error will be generated. 

b. The /samplefiles/personaldata directories will be added to the /home/user/homedirectory directory after prompting the user. 

c. The /samplefiles/personaldata directories will be added to the /home/user/homedirectory directory without prompting the user.
d. The new /home/user/homedirectory/samplefiles/personaldata directories will overwrite the existing /home/user/homedirectory directory path. 

91. A Linux system has suffered some data loss and the system administrator is required to view the list of all the users who recently logged in and out of the system.
Which command can the system administrator issue to view the required information?
a. last 

b. look 

c. logger 

d. lastlog 

92. Which parameter should be used with the 'find' command to find and display all the files that have the read, write, and execute permissions for the owner of the file.
a. -file -p o+rwx ls 

b. -f [--perm o+777] ls 

c. -type f -perm -o+rwx ls 

d. --file regular -perm o+rwx ls 

93. What is a reason for editing the /etc/sudoers file?
a. restricting the use of the ‘su’ command to a single group 

b. specifying the set of terminals on which the su user may log in 

c. listing the users who should be denied access to the ‘su’ command 

d. listing the users who have been temporarily granted the super user privileges 

94. Which option should be used with the 'su' command to issue a single command on the BASH shell?
a. "command"

b. -command 

c. -c "command" 

d. -cmd "command" 

95. What will be the result of issuing the 'chroot /user123' command? 

a. The root login will be changed to user123. 

b. The root password will be changed to user123. 

c. The root user privileges will be given to user123. 

d. The root directory of the shell will be changed to /user123. 

96. A Linux user issues the 'su -c "rm -rf /sampledirectory/*"' command. 
What will be the outcome of the command?
a. An error will be generated because there is no '-c' parameter defined for the 'su' command. 

b. The user will be logged in as a user named c before the system issues the 'rm -rf /sampledirectory/*' command. 

c. The user will be prompted to enter a super user password before the user can issue the 'rm rf /sampledirectory/*' command as a super user. 

d. Without being prompted for a password, the user will issue the 'rm -rf /sampledirectory/*' command as a super user and then log out to the previous login identity. 

97. Which command will enable the administrator to completely remove the user bob and the contents of bob's home directory from the system? 

a. userdelete bob 

b. userdel -r bob 

c. removeall -u bob 

d. rm -all --user bob 

98. Which command will delete a user named Julie from a Linux system but leave the contents of Julie's home directory intact?
a. rm -rf julie 

b. userdel julie 

c. userdel -r julie 

d. delete user julie 

99. Which command will allow a Linux technician to search for files having the special permissions StickyBit, SUID, and SGID in the /etc directory?
a. find /etc -perm -2000 

b. find /etc -perm -7000 

c. find /etc -perm -1000 

d. find /etc -perm -4000 

100. What will be the result of issuing the 'usermod -e 10/10/2008 bob' command?
a. Bob’s password will expire on 10/10/2008. 

b. Bob will be prompted to update his details on 10/10/2008. 

c. Bob’s user account will be permanently disabled on 10/10/2008. 

d. Bob will be prompted to specify a new login name on 10/10/2008. 
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